MAYA FABRIC KING BED

INDOOR USE ONLY - FULL ASSEMBLY REQUIRED - GREY
H 105 CM X W 192 CM X D 214 CM | LOAD LIMIT: 230 KG

Frame: MDF, LVL, Plywood and OSB Board
Outer: Polyester fabric
Legs: Rubber wood

Made in: Malaysia

WARNING: Do not stand on product. Do not use as a step ladder. Only use on even surfaces. Do not use
product unless all bolts, screws and knobs are firmly secured. Failure to follow these warnings could result in
serious injury.

CARE INSTRUCTIONS: Lightly vacuum upholstery with a brush attachment. Avoid direct sunlight. Do not rub.
Do not use abrasive materials or solvents. Blot stains or spills with a damp cloth.



ASSEMBLY INSTRUCTIONS

MODEL : BBT 61222 (W1850 x L2060mm) Bed 10f3

Read these instructions carefully. See hardware and furniture part list for guidance.
Please ensure you have all parts before assembling. Place all parts on a clean,
flat, soft surface to prevent them from being scratched whilst being assembled.
Follow the instructions provided for assembly.

CAUTION  :1.Donot fully tighten the nuts or nut bolts until all nuts or bolts have been inserted for
assembly.
2. Do not over tighten the nuts and bolts to avoid causing damage to the thread.
3. Keep all hardware out of reach of children.

NOTE : THE LIST AND QUANTITY SHOWN BELOW ARE FOR ASSEMBLY OF 1 UNIT .
Tools needed : Screwdriver (Not provided).

PART LIST HARDWARE LIST
ITEM DESCRIPTION QTY ITEM DESCRIPTION QTY

A HEADBOARD 1 PC 1 JCBB BOLT M8 x 20mm womf) |16 PCS
B | FOOTBOARD 1PC 2 | M8 SPRING WASHER < |16PCS
C BED LEG 4 PCS 3 WOOD SCREW M4 x 38mm w15 peg
D SIDE RAIL 2 PCS 4 WOOD SCREW M4 x 20mm wwwd | 4 pCS
E CENTER RAIL 2 PCS 5 M5 ALLEN KEY (BALL SHAPE) N\ 1pPC

F | CENTER SUPPORT LEG 6 PCS 6 |VMB3143 4 PCS
G | BED SLAT 1 SET

STEP 1 STEP 2

STEP 2.1




20f 3

STEP 4

STEP 6

ASSEMBLY INSTRUCTIONS

STEP 3.2

STEP 3.1

STEP 3

STEP 5




ASSEMBLY INSTRUCTIONS

30of3

STEP 7

* When moving the bed into position, please ensure the center support

legs are adjusted to be straight up before use to avoid them breaking.




